
1 2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

A

B

C

D

E

F

A

B

C

D

E

F
     THIS DRAWING SHOWS THE MOST COMMON VERSION OF THIS PRODUCT VARIANT.
     SMALL DIFFERENCES MAY OCCUR DEPENDING ON THE FINAL PRODUCT CONFIGURATION.
 
     CENTER OF GRAVITY:
     FOR REFERENCE ONLY, THE PRODUCT CONFIGURATION MAY INFLUENCE THE CG IN ALL THREE AXES.

210
[8.3]

188
[7.4]

2
2
5

[
8
.
9
]

432
[17]

105

5
4
4

[
2
1
.
4
]

2
x
1
7
8

[
7
]

1
0
2
1

[
4
0
.
2
]

2
3
[
0
.
9
]

57
[2.2]

96
[3.8]

1
6
5
7

[
6
5
.
2
]

436
[17.2]

142
[5.6]

413
[16.3]

35
[1.4]

1
8
[
0
.
7
]

2x 20
[0.8]

280
[11]

192
[7.6]

2x163
[6.4]

2
6
[
1
]

2
x
1
6
8

[
6
.
6
]

316
[12.5]

107
[4.2]

213
[8.4]

320
[12.6]

5
7
6

[
2
2
.
7
]

1
1
6
4

[
4
5
.
8
]

1
7
3
0

[
6
8
.
1
]

1
3
0

[
5
.
1
]

1
7
5
6

[
6
9
.
1
]

1
9
7
5

[
7
7
.
8
]

11
[0.43]

1
4
[
0
.
5
5
]

33,1
[1.3]

2
5
[
0
.
9
8
]

11
[0.4

3]

1
1
2
6

[
4
4
.
3
]

263
[10.4]

1
9
2
8

[
7
5
.
9
]

122
[4.8]

2x231
[9.1]

3
5
[
1
.
4
]

2
4
[
0
.
9
]

3
1
7

[
1
2
.
5
]

3
9
0

[
1
5
.
4
]

106
[4.2]

208
[8.2]

2
0
0

[
7
.
9
]

1 OF 2MCAD FB10c IP54

PROPERTY OF DANFOSS A/S NORDBORG, DENMARK. TWO OR THREE DIMENSIONAL REPRODUCTIO N OF CON
TENTS TO BE AUTHORIZED BY DANFOSS A/S. SHEETMODEL

001 178r0018
REVDRAWING NUMBER

MCAD FB10c IP54

CHECKED

02-03-2023Oshin BoseDESIGNED

CHANGED

DESCRIPTION

-FINISH
A31:20

UNLESS OTHERWISE SPECIFIED THE TOLERANCE 
IS 1MM [0.4 INCH].

ALL DIMENSIONS ARE IN MILLIMETERS [INCH]

-MATERIALDRAWING
SIZE

SCALEFIRST ANGLE PROJECTION

Type Value

Max Weight 178kg/392Ib

IP Class IP54

UL Type Type 12

Position of connectors

A Line

B Motor

C Brake / DC

D Interface X0

E Interface X1/X2

F Grounding connections

M
i
n
.
 
A
i
r
 
S
p
a
c
e
 

f
o
r
 
C
o
o
l
i
n
g

A
i
r

o
u
t
l
e
t

A
i
r
 

i
n
l
e
t

1. MAX AIRFLOW (BACKCHANNEL) - 638m³/hr(375CFM) 
2. MAX AIRFLOW (CABINET) -  204m³/hr(120CFM)

Ceiling

Company 
name

Product 
name

Product label 1

Danger
label

Product label 2
inside the drive

2x Knockout
panel

Heatsink
access
(Optional)

SEE DETAIL E

Motor side
cable entry
SEE DETAIL F

Line side 
cable entry

SEE DETAIL E
SCALE 2:5

Use M10 Mtg. bolt or
3/8" Mtg bolt

SEE DETAIL F
SCALE 2:5

Use M12 Mtg. bolt 
or 1/2" Mtg bolt



1 2 3 4 5 6 7 8

1 2 3 4 5 6 7 8

A

B

C

D

E

F

A

B

C

D

E

F
  THIS DRAWING SHOWS THE MOST COMMON VERSION OF THIS PRODUCT VARIANT.
  SMALL DIFFERENCES MAY OCCUR DEPENDING ON THE FINAL PRODUCT CONFIGURATION.
 

1
0
[
0
.
4
]

44
[1.8]

1
0
[
0
.
4
]

44
[1.8]

2
4
1
9
.
5

[
]

0
0

[
]

3
0
9
1
2
.
2

[
]

119
[4.7]

6
4
[
2
.
5
]

9
3 3
.
7

[
]

0
0

[
]

2
4
1
9
.
5

[
]

152 6[ ]

0
0[ ]

212 8.4[ ]

272 10.7[ ]

307 12.1[ ]

417 16.4[ ]

493 19.4[ ]

1351
53.2[ ]

2
7
2
1
0
.
7

[
]

0
0

[
]

3
2
8
1
2
.
9

[
]

6
7

2
.
6

[
]

0
0

[
]

1
2
1

4
.
7

[
]

1
7
5

6
.
9

[
]

2
4
6

9
.
7

[
]

3
0
0

1
1
.
8

[
]

3
5
4

1
3
.
9

[
]

1
5
[
0
.
6
]

32
[1.3]

221
[8.7]

2
0
7

[
8
.
1
]

2 OF 2MCAD FB10c IP54

PROPERTY OF DANFOSS A/S NORDBORG, DENMARK. TWO OR THREE DIMENSIONAL REPRODUCTION OF 
CONTENTS TO BE AUTHORIZED BY DANFOSS A/S. SHEETMODEL

001 178r0018
REVDRAWING NUMBER

A

B

C

BOTTOM VIEW

F

L1,L2,L3 U,V,W R+,R- DC+,DC-

M10

SCALE 1:2

M10

LINE TERMINAL MOTOR TERMINAL BRAKE / DC TERMINAL
L1 L2 L3 U V W

D

M10x20 Stud
with nut (6X)

SECTION A-A
Line Terminals

SECTION B-B
MOTOR/BRAKE/DC Terminals

D

M10

E

X1&X2 Connector

B

CC


	Sheet 1
	Views
	new_view_46
	left_47
	left_48
	left_49
	bottom_50
	top_51
	E
	F


	Sheet 2
	Views
	C
	D
	new_view_25
	left_26
	right_28
	bottom_29
	new_view_30
	new_view_54



